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Test – 4 
 

MENSURATION SOLUTION  
 

1. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

A. The length, breadth and height of a cuboid is 120 mm, 10 cm and 8 cm respectively. 
Find the volume of 25 such cuboids.  
xU fdr;nrt;tfj;jpd; ePsk;> mfyk; kw;Wk; cauk; KiwNa 120 kp.kP 10 nr.kP 
kw;Wk; 8 nr.kP. ,Nj msTfs; nfhz;l 25 fdr;nrt;tfq;fspd; fd msitf; 
fhz;f. 
Solution:  
  Since both breadth and height are given in cm, it is necessary to convert the 
 length also in cm.  

 So we get, l = 120 mm = 
120

10
= 12 cm and take b = 10 cm, h = 8 cm as such.  

 Volume of a cuboid = l × b × h  
    = 12 × 10 × 8    
    = 960 cm3 
 Volume of 25 such cuboids = 25 × 960  
     = 24000 cm3   
    

B. The area of a trapezium is 828 sq. cm. If the lengths of its parallel sides are 19.6 cm and 
16.4 cm, find the distance between them. 
gug;gsT 828 r.nr.kP ,izg;gf;f msTfs; 19.6 nr.kP> 16.4 nr.kP nfhz;l rhptfj;jpd; 
cauj;ij fhz;f.  
Solution:  
  Given, Area of the Trapezium = 828 cm2   

     
1

2
× h (a + b) = 828  

      
1

2
× h (19.6 + 16.4) = 828  

       
1

2
× h (36) = 828  

     h (18) = 828 
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        h = 
828

18
= h = 46 cm   

2. Find the area of a quadrilateral ABCD whose sides are AB = 13 cm, BC = 12 cm, CD = 9 cm, AD 
= 14 cm and diagonal BD = 15 cm  . 
AB = 13 nr.kP> BC = 12 nr.kP> CD = 9 nr.kP> AD = 14 nr.kP Mfpatw;iwg; gf;fq;fshfTk; BD 
= 15 nr.kP I %iytpl;lkhfTk; nfhz;l ehw;fuk; ABCD ,d; gug;igf; fhz;f.  

 Solution:  

  In BCD,    BD2 = BC2 + CD2   
      152 = 122 + 92  
      225 = 144 + 81 
      225 = 225  
  So, ∆BCD is a right triangle and C = 90° 

    Area of ∆ BCD = 
1

2
× base × height  

       21
12 9 54

2
cm    

   Sides of the triangle ABD are 15 cm, 14 cm and 13 cm  

     s = 
15 14 13 42

21
2 2 2

a b c   
    

   Area of the triangle = ( )( )( )s s a s b s c    

      = 21(21 15)(21 14)(21 13)    

      = 21 6 7 8    

      = 21 3 2 7 2 4      

      = 21 21 4 4    

      = 21 × 4 = 84 cm2  
   Area of the quadrilateral = 54 + 84 = 138 cm2  
 
15 Mark  

 
1. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
A. Find the central angle and area of a palm leaf fan (sector) of radius 21 cm and whose 

perimeter is 86 cm. 
22

7

 

 
 

 

Muk; 21 nr.kP kw;Wk; Rw;wsT 86 nr.kP msTfs; nfhz;l xU gidNahiy tprpwpapd; 

(tl;lNfhzg;; gFjp) ikaf;Nfhzk; kw;Wk; gug;gsitf; fhz;f. 
22

7

 

 
 

 

Solution:  
  Perimeter of the palm leaf fan = 86 
   That is,   l + 2r = 86 
      l + 2 × (21) = 86    
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      l = 86 – 42  
  the length of the arc l =44 cm  

  Length of the arc l = 
360




 × 2 r units  

    44 = 
360




× 2 × 

22

7
21

3

 

    
360

120
3




     

  Also, area of the palm leaf fan  

     A = 
2

lr
Cubic.units  

     = 
44 21

2


 

    A = 462 cm2 (approximately)  
     

B. Find the number of coins, 1.5 cm in diameter and 2 mm thick, to be melted to form a right 
circular cylinder of height 10 cm and diameter 4.5 cm. 
cauk; 10 nr.kP kw;Wk; tpl;lk; 4.5 nr.kP cila xU Neh;tl;l cUisia cUthf;f 1.5 
nr.kP tpl;lKk;> 2 kp.kP jbkd; nfhz;l vj;jid tl;l tpy;iyfs; Njit?  
Solution:  
  Coin is in the form of a cylinder     
  Diameter of the coin = 1.5 cm  

  Radius of the coin = 
1.5

2
     

  Thickness = height = 2 mm = 
2

10
 = 0.2 cm  

  Volume of coin (cylinder) = 2r h  

     = 
2

1.5
(0.2)

2

 
 
 

 

     = 0.1125   cm3  
  Diameter of cylinder = 4.5 cm  

    radius = 
4.5

2
= 2.25 cm  

    height = 10 cm  

    volume = 2r h   .units  
     =   (2.25)2 (10)  
     = 50.625   

  No. of coins = 
volumeof cylinder

volumeof coin
 

    = 
50.625

0.1125




= 450 coins  
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2. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 

A. A hemispherical section is cut out from one face of a cubical block such that the 

diameter l of the hemisphere is equal to side length of the cube. Determine the 

surface area of the remaining solid. 
fdr;rJuj;jpd; xU gFjpapy; l myFfs; tpl;lKs;s (fdrJuj;jpd; gf;f mstpw;Fr; 
rkkhd) Xh; miuf;Nfhsk; ntl;lg;gl;lhy;> kPjKs;s jpz;kj;jpd; Gwg;gug;igf; 
fhz;f.  
Solution:  
 Let r be the radius of the hemisphere,  
 Given that, diameter of the hemisphere  
    = side of the cube = l  

 Radius of the hemisphere = 
2

l
     

TSA of the remaining solid  
   = Surface area of the cubical part  
   + C.S.A of the hemispherical part  
  - Area of the base of the hemispherical part 

  = 2 2 26 ( ) 2Edge r r     = 2 26 ( )Edge r   

  = 
2

2 21
6 ( ) (24 )

2 4

l
l l 

 
    

 
 

  Total surface area of the remaining solid = 21
(24 )

4
l sq. units  

 
B. The diameter of a semicircular grass plot is 14 m. Find the cost of fencing the plot at ì 10 

per metre . 
miu tl;l tbtpyhd Gy;ntsp xd;wpd; tpl;lk; 14 kP> mjw;Fr; Rw;W Ntyp mikf;f xU 
kPl;lUf;F ì 10 tPjk; nryT Mfpd;wJ vdpy; nkhj;j nryitf; fhz;f.  
Solution:  
 Given: Diameter, d = 14 m  

 Radius of the plot, r = 
14

2
 = 7m  

 To fence the Semicircular plot,  we have to find the perimeter of it.  
 Perimeter of a semicircle, P = ( + 2) × r units  

      = 
22

2 7
7

 
  

 
  

      = 
22 14

7
7

 
 

 
 

      P = 36 m  
 Cost of fencing the plot for 1 metre = ì 10  
 Cost of fencing the plot for 36 metres = 36 × 10 = ì 360  

 

 


